EARAZROREIERT — 2 N— XBISY —F 202054818 (k) 1EIS#1H

m*}%%#&ﬁ?ﬂ] B1 ¥5%—MH% (xwlm | lmEmml - v 6) o s
[AE£] 175 :440,000 3 ~ 2% :102,000 3#&:44,000H  43#%:31,000” . 53&:22,000 ™
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
s 4 | BEREE 1:27.0 4-4-5-5 [38.1| — 3 433 | EBH (512)
1 o | FIAIL 54.0 =) © (#%) YGGDRAS I LL
RN=F4N—-F ¢ B:Z1—-7O0O0-7 YonNwy 7277 —4
= s 4 | EERR 1:27.1 2-2-2-1 [38.5| — 1 450 | RS (5H2)
2 4 *77 54.0 (172) o |MIEF
RL:Xx—r77)a> BTIXISTHR [E]=sEae
N e — BlaFnts : —3-3— — SHER (5HR)
3 6|71 hTELT 1 76 56.0 1('12/72')2 5353 %85 ! (5_270) s = :
RTAYCTFE2Te BIVESH— e 18
— P EFHERE : -1-1- — FLEME ()
al1lq|¥==>7z0 £ 5 L 1(72{:)2 1-1-1-2 | 38.7 6 (4:)235 7 A
L:FATAT v — By F—L SRS
ISR NS > 4 | B 1:27.5 5-5-4-4 |38.6| — 2 467 | EFHEF ()
5177 Tarhgro - 5'_]6.0 (1 1/2) (+3) SRS :
LTANNTTFY— BNy ot—% HEE &
o5 o T HEZ :27. —-7-7- . = JIUBBAE (55HA)
6 3 AFEY—U2%2X % 7 Sl 1(/%;;5 7-7-7-7 | 37.6 7 (4+511) ] A
LA TAT v — BAEY—INTAT gt e
5 it 5 | ABER 1:27.6 6-6-6-6 |38.4| — 5 430 | EEEREAL (THA)
7155 | Z2AH-T41 54.0 (7€) (-5) | REHE :
AANZRATING B rTFa— KW
® I —F—EBIERL
13=7r= 1,4,6,2,7,5,3
Ra=gr= 1,4,6,2,7,5,3
BEE 1,4,6,7,2,5,3
41—+ — 4,1,6,7,2,5,3
[ N3
BB 2 500/ 714K 2-4 150H B E 2-4 310 3JEHE 2-4-6 970M
8 B 2 150M 2-6 380M B H 2-4 1,150/ K31 2-4-6 5,710
4 120/ 4-6 220M

ARICOVWTRDTEEERROODE. TR LI,



